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Among these which formation is
highly fossiliferous ?

(1) Lathi Formation

(2) Pariwar Formation

(3) Jaisalmer Formation

{4) Baisakhi Formation

Bentonite deposits of Barmer
district aré associated with

(1) Fatehgarh Formation

(2) Akli Formation

(3) Barmer Formation

(4) Kapurdi Formation

Which district of Rajasthan State
1s bearing Red soil ?

(1) Jaisalmer

(2) Ganganagar

(3) Jaipur

(4) Banswara

Girujan clays belongs to Tertiary
Formation of

(1) Kachchh

(2) Trivendram

(3) Assam

(4) Pondicherry

How many years ago development
of Eukaryotes took place ?

(1) 1600 million years ago
(2) 2600 million years ago
(3) 3600 million years ago
(4) 600 million years ago

Who coined the term ‘evolution’
in the context of life ?

(1) Charles Darwin

(2) Herbert Spencer

(3) Buffon

(4) Empedocles
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10.

First mass extinction happened
in which period ?

(1) Cambrian

(2) Ordovician

(3) Silurian

(4) Devonian

Among these which one is a
Gondwana
Vertebraria ?

plant fossil

Species with a narrow tolerance
range of salt is called

(1) Euryhaline

(2) Stenohalilne
(3) Hypersaline
(4) None of these

Which type of ecosystem is
formed by Estuaries ?

(1) Fresh water
(2) Marine ecosystem
(3) Brackish water

(4) Grassland ecosystem
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What was the size of genus
Hyracotherium ?

(1) Equal to Donkey
(2) Equal to Wolf
(3) Equal to Dog

(4) Equal to Cat

What is the age of horse genus,
Mesohippus ?

(1) Oligocene
(2) Miocene
(3) Pliocene
(4) Eocene

Among these figures, which one is
a skull of genus Moeritherium ?

A genus which forms main line of
proboscidean evolution  and
appeared in Oligocene. and
continued upto Pleistocene time is

(1) Elephas

(2) Phiomia
(3) Mastodon
(4) Trilophodon
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Among these which one is an
ancestor of both apes and modern
man ?

(1) Pithacanthropus

(2) Eoanthropus

(3) Sinanthropus

(4) Dryapithecus

Among these which human
ancestor represents Neolithic
culture ?

(1) Homo sapiens sapiens
(2) Homo sapiens fossalis
(3) Homo neantherthalensis
(4) Homo rhodesiensis

Among these which group is not
related to nannoplanktons ?

(1) Coccoliths
(2) Discoasters
(3) Diatoms

(4) Nannoconids

What is age of conodonts ?

(1) Cambrian to Devonian

(2) Upper Precambrian to Triassic
(3) Ordovician to Triassic

(4) Palaeozoic

Among these foraminiferal shells
which one is |biserial and
multilocular ?
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What type of aperture is present
in a foraminiferal genus
Lenticulina ?

(1) Radiate
(2) Rounded
(3) Hooded
(4) Arcuate

Which group of fossils bears line
of concrescence ?

(1) Bivalvia

(2) Ostracoda

(3) Brachiopoda

(4) Trilobita

Partly crystallized inner lamella
are present in which of the
following ?

(1) Brachiopoda
(2) Bivalvia

(3) Gastropoda
(4) Ostracoda

What is

ostracods ?

(1) Lower Ordovician to Middle
Permian

(2) Late Cambrian to Devonian

(3) Cambrian to Ordovician

(4) Lower Ordovician to Recent

age of Palaeocopid

Reproductive  unit of
flowering plants is known as

(1) Pre-pollens
(2) Pollens

(3) Spores

(4) None of these

non-
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Which position of foramen in
Brachiopods is termed as
Hypothyrid ?

SR
®) N,
O T,
R

Which genus of Brachiopods has
dorsal valve concave and ventral
valve very convex ?

(1) Spirifer

(2) Athyris

(3) Productus

(4) Rhynchonella

Bivalves beak facing anteriorly is
termed as

(1) Orthogyral
(2) Prosogyral
(3) Opisthogyral
{4) None of these

Bivalves bearing two identical
lateral teeth are classified as

{1) Taxmodont

(2) Isodont

(3) Desmodont

(4) Dysodont

Which gastropods have biconical
form, which is widest in middie ?
(1) Fusus

(2) Conus

(3) Oliva

(4) Trochus
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Last whorl of the shell of
gastropods covering completely
all previous whorls is termed as

(1) Evolute
(2) Involute
(3) Convolute
(4) Advolute

Suture forming lobes and
saddles, where lobes are further
crenulated are known as

(1) Ceratitic

(2) Goniatitic
(3) Ammonitic
(4) Nautilitic

What is age of Ammonoids ?
(1) Cambrian to Cretaceous
(2) Ordovician to Cretaceous
(3) Devonian to Triassic

(4) Ordovician to Jurassic

Facial suture in  Trilobite
originating from anterior of
glabella and ending in front of
genal angle is known as

(1) Protoparian
(2) Opisthoparian
(3) Gonatoparian
(4) Proparian

Telson is related to
(1) Cephalon

(2) Thorax

(3) Pygidium

(4) Pleuron
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Echinoid with radially
symmetrical test is called
(1) Regular

(2) Regular and endocyclic
(3) Exocyclic
(4) Endocyclic

What is Corona in Echinoids test ?
(1) Ambulactral plates
(2) Interambulacral plates

(3) Ambulacral and
Interambulacral area

(4) Occulogenital system

A morphological term ‘virgella’ is
associated with

(1) Graptolites

(2) Trilobites

(3) Corals

(4) Echinoids

Corals have a cup-like depression
on which the polyp rests is known
as

(1) Corallite
(2) Corallum
(3) Septa
(4) Calyx

Which method of mineral
exploration cannot be performed
without physical contact with the
ground ?

(1) Magnetic

(2) Gamma-ray

(3) Seismic reflection

(4) Gravity
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Generally all geologically
important magnetic minerals lose
their magnetic properties at
about temperature.

(1) 600 °C

(2) 400 °C

(3) 200°C

(4) 100 °C

The ore that is formed by
ascending solutions is called

(1) Supergene
(2) Hypogene
(3) Epigenetic
(4) Syngenetic

Which are the common
pathfinder elements in
Geochemical Exploration for
Platinum-Palladium in mafic-
ultramafic rocks ?

(1) Hg, Zn

(2) Rn, Cu, Bi, As

(3) Mn, Mo, Au, Te

(4) Cu-Ni-Cr-Pd

Gamma-ray Radiometric

exploration method is not useful
for

(1) Thorium
(2) Uranium
(3) Sulfide ore
(4) Radium

In Zawar area, Silver is present
as minute native flakes
associated with

(1) Sphalerite
(2) Galena

(8) Arsenopyrite
(4) Chalcopyrite
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What is age of Malanjkhand
copper deposit according to Rb-Sr
method ?

(1) 2270 and 2458 M. Y.
(2) 2700 and 2858 M. Y.
(3) 2970 and 3000 M. Y.
(4) 1800 and 2000 M. Y.

What is host rock for Pb-Zn
deposit in Rajpura-Dariba Mine ?

(1) Only calc-silicate rocks

(2) Calc-silicate rocks and the
graphite mica-schist

(3) Only the graphite mica-schist
(4) Dolomite

The stromatolitic —phosphate-
bearing bed in Jhamarkotra mine
is hosted in rocks of

(1) Lower Aravalli age
(2) Middle Aravalli age
(3) Upper Aravalli age
(4) Banded Gneissic Complex age

Chromite deposits are usually
associated with

(1) Kimberlite
(2) Syenite
(3) Granite
(4) Peridotite

Choose the correct combination of
ore and location of its deposit.

(1) Iron —Malanjkhand

(2) Emerald — Panna

(3) Diamond — Majhagawan
(4) Copper — Kayad
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Which of the following deposits is
a product of residual weathering
process ?

(1) Banded iron ore
(2) Porphyry copper
(3) Bauxite

(4) Placer gold

In which of the following
localities lignite does not occur ?

(1) Phalsund
(2) Thumbli
(8) Barsingsar
(4) Kasnau

Commercial deposits of monazite
in India occur in :

(1) Beach placer

(2) River placer

(3) Vein deposits

(4) Disseminated deposit

Large deposits of marine
manganese nodules are usually
found in :

(1) Continental shelf
(2) Abyssal plain

(3) Beach sand

(4) Coral reef

Potash deposits reported from
which district of Rajasthan state ?

(1) Jhunjhunun
(2) Jaisalmer

(3) Barmer

(4) Hanumangarh
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Ore deposit formed at low

temperature is termed as :
(1) Hypothermal

(2) Mesothermal

(3) Epithermal

(4) None of these

Fissure vein, ladder vein, stock

work and saddle reef are
characteristics of which ore
deposits ?

(1) Evaporation

(2) Metasomatic replacement
(3) Metamorphism

(4) Cavity filling

Shimoga, Chitradurga, Chikmaglur
end Bababudan Hill localities are
associated with :

(1) Iron Deposit

(2) Lignite Deposit

3) Copper Deposit

(4) Magnesite Deposit

Belka Pahar Wollastonite deposit
is a

(1) Supergene Deposit

(2) Metamorphic Deposit

(38) Skarn Deposit

(4) Cavity filling Deposit

What is chemical composition of
Pyrolusite ?

(1) Mn,O4

(2) MnO,

@) Mnz0,

4 MnCO,

Which of the following minerals
glitters in ultraviolet light ?

(1) Wulfenite

(2) Wolframite

(3) Tungstite

(4) Scheelite
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Among the
mineral is
Aluminium ?
(1) Diaspore
(2) Bobhemite
(8) Gypsite

(4) Gibbsite

following which
not related to

Jaduguda Uranium deposit is
associated with

Schists

Phyllites

Schists and Phyllites
Granites

(D)
(@)
3)
4

A coal

charcoal is
(1) Vitrain
(2) Clarain
(3) Durain
(4) Fusain

material resembling

Which property of garnet makes
it useful as abrasive ?

(1) Hardness
(2) Toughness
(8) Fracture
(4) All of these

Mica deposits of Rajasthan are
assoclated with

(1) Pegmatite

(2) Quartzite

(3) Amphibolite

(4) Granite

Which of the following rocks does
not contain alkali feldspar ?

(1) Meta-gabbro

(2) Meta-sedimentary rock

(8) Granite

(4) Peridotite
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A coal which burns like a candle
when ignited, is named :

(1) Boghead coal
(2) Cannel coal

(3) Anthracite coal
(4) Bituminous coal

. Macerals in coal derived from

fats and oils are called
(1) Bituminite

(2) Exudatinite

(3) Fluorinite

(4) Cutinite

A  highly viscous, low-quality
petroleum species is known as

(1) Tar

(2) Earth wax
(3) Asphalt
(4) Kerogen

Which of the following refers to
source rock of petroleum ?

(1) Rock of petroleum migratory
path

(2) Petroleum generating rock

(8) Petroleum storing rock
(4) None of these

Gossan is afan

(1) Organic residue
(2) Siliceous residue
(8) Calcareous residue

(4) Ferruginous residue
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74.
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When was the first oil struck in a
well at Makuim in Assam at
40 m depth ?

(1) 26th March, 1867
(2) 26t March, 1866
(3) 1828
(4) 1837

The phyllites and  schists
intruded by granites at Khandela
(Rajasthan) bear

(1) Uranium

(2) Thorium

(8) Lead

(4) Both Uranium and Thorium

China clay is also called
(1) Montmorrilonite

(2) Fire clay

(3) Kaolin

(4) Refractory clay

What is the porosity of dense
basalt ?

(1) 5%
(2) 10%
(3) 20%
4 0.1-1%

Suppose you have a 10 litre
bucket full of dry sandy material.
You add just enough water until
the sand becomes saturated.
Assume that it takes exactly
2 Litres to fill all of the pores.
Find out how much is the
porosity of sandy material.

(1) 20% (2) 25%

3) 40% (4) 50%
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80.

o
d

. The

. Approximate height of capillary

rise in silt is
(1) 125 mm
(2) 250 mm
(3) 400 mm
(4) 1000 mm

What is nature of water if it has
pH value less than 7 ?

(1) Basic

(2) Neutral

(3) Acidic

(4) None of these

Maximum concentration of
Arsenic allowed in mg/l in
drinking water is

(1) 0.01 mg/L
(2) 0.002 mg/L
(3) 0.05 mg/L

-(4) 1mg/L

The maximum permissible limit
of fluoride in drinking water is

(1) 0.5 ppm
(2) 1.5 ppm
3) 2.5 ppm
(4) 3 ppm

fresh water from Ilakes,

rivers and the subsurface have
TDS value of

(1) 20 mg/LL
(2) between 20 and 1000 mg/L

(3) between 1000 and 35000
mg/L

(4) about 35000 mg/L
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The ratio of volume of water
retained in the material to the
total volume of material is

(1) Specific yield

(2) Porosity

(3) Specific retention
(4) Permeability

Which of the following formations
represents aquiclude ?

(1) Clay bed
(2) Granite
(3) Sandy clay
(4) Sandstone

The value of specific yield of
medium grained sandstone is :

() 6

@) 27

3) 38

@ 44

Water table
e

This lens shaped water body
above water table in this figure is
known as

(1) Vadose water
(2) Phreatic water
(3) Perched water
(4) Capillary water

What is unit of transmissivity ?
(1) m3/day/m

(2) m?/day

(3) both m3/day/m and m?%/day
(4) m/day
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88.

89.
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91.

What is the speed of gamma log
measurement in  radioactive
formations ?

(1) 3 m/min. to 6 m/min.
{2) 5 m/min. to 8 m/min.
(3) 6 m/min. to 9 m/min.
(4) 7 m/min, to 10 m/min.

Water density varies slightly
with temperature, this is strictly
true only at

(1) 1.89°C
(2) 3.89°C
(3) 6°C
(4) 8°C

How much is the rise in
groundwater temperature at
100 m depth due to geothermal
heat ?

(1) 4°C

(2) 2°C

3) 3.3°C

4) 5°C

Groundwater containing more

than 500 mg/Li chloride can be
used for

(1) Municipal supply
(2) Irrigation
(3) Industries
(4) Animal’s drinking

The groundwater
southern Rajasthan is

(1) Fresh

(2) Brackish

(3) Saline

(4) Brackish to saline

quality in
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Artesian well conditions are
found sometimes during rainy
season in

(1) Lathi Formation

(2) Sanu Formation

(3) Baisakhi Formation

(4) Bandah Formation

If the water molecules passing
into vapour state exceed the
number joining the liquid, the
result is

(1) Evapotranspiration

(2) Evaporation

(3) Transpiration

(4) Fall in humidity

Which of the following rock types

has maximum permeability ?

(1) Clastic sedimentary rock

(2) Chemical origin sedimentary
rock

(3) Igneous rock

(4) Metamorphic rock

The undulating surface at which
pore water pressure is equal to
atmospheric pressure, is called
(1) Wilting point

(2) Capillary rise

(3) Water table

(4) None of these

The volume of water that a
permeable wunit will absorb or
expel from storage per umit
surface area per unit change in
head is a dimensionless quantity.
What is it called ?

(1) Permeability

(2) Storage co-efficient or storativity
(8) Porosity '
(4) Specific storage
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An imagery line that traces the
path that a particle of
groundwater would follow as it
flows through an aquifer is
known as

(1) Water table contour

(2) Flow net

(3) Flow line

(4) Depth of water table

What is specific yield of Palana
Sandstone of Rajasthan obtained
by pump test method ?

(1) 20%

(2) 15%

3 12%

4) 7%

Generally what is height of small
dams ?

(1) < 15 metre

(2) 20m

3) >20m

(4) between 25 m and 30 m

What will be electrical resistivity
value of sand with fresh water, in
ohm.m ?

1) <5

(2) 1-50

(3) 80-200
(4) 500 - 1500

How much is average well
discharge of water from
Precambrian crystalline provinces
of India ?

(1) 25 m%day

(2) 75 m3day

(3) 100 m%day

(4) 200 m3/day
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102.

103.

104.

105.

106.

Portion of dam structure in

contact with ground at upstream
side is called

(1) Toe
(2) Heel
(3) Abutment
(4) Free-board

Which is a suitable site for dam
construction ?

(1) Dam on shale

(2) Dam on strata dipping
upstream

(3) Dam on strata dipping
downstream

(4) Dam on permeable rocks

What is the chief factor(s) which
causes over break in tunnel
excavation ?

(1) Presence of hard and tough rock.

(2) Presence of closely spaced joints
and fractures.

(3) Presence of thinly bedded rocks.
(4) All of these

If a tunnel is aligned across the
strike of the strata, the tunnel
will have more pressure on its

(1) walls

(2) roof

(38) on one side of tunnel
(4) None of these

A type of earthflow which takes
place in cold climate is known as

(1) mudflow
(2) soil creep
(3) rock creep
(4) solifluction
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111,

site ?

(1) Quartzite

(2) Shale

(3) Schist

(4) Sandstone with shale bed

Among these which one is not a
man-made cause of landslides ?
(1) Axtificial vibrations

(2) Joints in slopes of rocks

(3) Deforestation

(4) Drawdown of reservoir

A dam chiefly consisting of
reinforced concrete slab that
slopes upstream and has a
number of vertical support is
known as

(1) Arch Dam

(2) Embankment Dam

(3) Buttress Dam

(4) Gravity Dam

Generally how much space is
recommended between top of
locomotive and roof of tunnel ?

1N Im

(2) 1.5m
@3) 0.5m
4 1.75m

How much is the velocity of
longitudinal  seismic  waves
passing through granite ?

(1) 3.5—-5.5 km/sec

(2) 5.5-6.1 km/sec

(3) 6.5—Tkm/sec

(4) 2.3-4.5 km/sec
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112,

113.

114.

115.

116.

Which is/are anthropogenic cause(s)
of environmental pollution ?

(1) Acid rain

(2) Ozone layer depletion
(3) Global warming

(4) Al of these

Small dams are beneficial
because
(1) Less damage to  the

environment and settlements
(2) Cover more croplands
(3) More damage to
environment
(4) More supply of fresh water

the

Increase of Nitrate in
groundwater can be attributed to

(1) Weathering of rocks

(2) Soil

(3) Use of nitrogenous fertilizers
(4) None of these

The final stage of carbon cycle is
the return of carbon to the
environment by

(1) Life

(2) Ocean

(3) Upper crust

(4) Volcanic activity

The most stable geological
formation(s) for storage of
nuclear waste on the continents
is/are

(1) Salt domes

(2) Granite

(3) Salt domes and granite

(4) Basalt
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119.

120.

121,

The mechanics of the greenhouse
effect was first recognized in
which year ?

(1) 1796

(2) 1896

(3) 1996

(4) 2001

The possible reason of Ice ages in
geological history is

(1) Reduction of carbon dioxide
in atmosphers

(2) Reduction of Oxygen in
atmosphere

(3) Increase of Nitrogen in
atmosphere

(4) Increase of carbon dioxide in
atmosphere

What is the quantum of average
surface temperature rise during
the last century ?

(1) €.5 degree Celsius

(2) 1 degree Celsius

(3) 1.5 degree Celsius

(4) 2 degree Celsius

The effects of global climate
change with increasing
temperatures could be that
(1) wildlife of Tundra
disappear.

forests would creep poleward.
forests would creep towards
equator.

Both (1) and {2) are correct.

3

The htmosphere holds how many
percent of Earth’s water at any
given moment ?

(1) About 0.5%

2) 2%

3) 1%

4) 1:5%

will

(2)
3

(4)
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123.

124.

Which of the following diseases is
not related to the mineral dust
pollution ?

(1) Asbestosis
(2) Sililcosis
(8) Fluorosis
(4) Talcosis

Consider the following statement :
Changes in the Earth’s orbit,
Variations in solar output,
Surface changes,

Volcanoes and

A

Variations in greenhouse gas
concentrations.

Which is the reason for climate
change ?

(1) 1and 2 only
(2) 2 and 3 only
(3) 3 and 4 only
(4) 1,2,3,4and 5

Out of the following greenhouse
gases, which are mainly
responsible for climate change ?

Carbon dioxide (CO,)

Methane (CH))

Nitrous oxide (N,0)
Chlorofluorocarbons (CFCs) and
Water vapour (H,0)

1 and 2 only
1 and 3 only
1 and 4 only
1,2,3,4and 5

1
2
3.
4
5
1)
@)

3)
4)
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The ‘Devonian  Period’ in
stratigraphic time scale is named
after a

(1) Geographical Place

(2) Tribe

(3) Lithological unit

(4) Specific character

Among these which one is a
Chronostratigraphic unit ?

(1) Formation

(2) Period

(8) System

(4) Zone

A sub-branch of stratigraphy
called Event Stratigraphy is used
for correlation of sedimentary
rocks on basis of which of the
following ?

(1) Simple Rocks

(2) Event Horizons

(3) Marker Beds

(4) Both (2) and (3)

Which type of fossils are suitable
for naming Biostratigraphic units ?
(1) Index fossil

(2) Leaked fossil

(3) Reworked fossil

(4) Pseudo-fossil

A mass of rock of essentially
uniform character and having
Intriguing relationships with
adjacent masses of different
lithology is termed as

(1) Member

(2) Lithodeme

(3) Lithosome

(4) Stage
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. The

greenstone belts in the
Dharwar Province are traditionally
described as

(1) Granitic belt

{2) Schist belt

(8) Chlorite belt

(4) Gneissic complex

Which of the following deposits is
hosted by Bailadila Group of
Bastar Craton ?

(1) Copper Deposit
(2) Iron Deposit

(3) Uranium Deposit
(4) Chromite Deposit

What is the age of Singhbhum
multiphase granites ?

(1) 3000 and 3500 M.Y.
(2) 2900 and 3100 M.Y.
(3) 3000 and 3100 M.Y.
(4) 3300 and 3100 MY,

Which of the following is older
than Malani Igneous Suite ?

(1) Erinpura Granite

(2) Jodhpur Group

(8) Sarnu Sandstone

(4) Pokaran Boulder Bed

Sediments of Siwalik Group
belong to which age ?

(1) Upper Miocene to Pleistocene

(2) Lower Pliocene to Middle
Pleistocene

Middle Miocene to Lower
Pleistocene

)

Eocene to Pliocene

4
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What is age of the Dharwar
Supergroup ?

(1) 2600 to 3200 M.Y.
(2) 2000 to 2900 M.Y.
(3) 2200 to 2900 M. Y.
(4) 2600 to 2800 M.Y.

Sukma Group of Bastar Craton
consists of

(1) Amphibolites

(2) Banded Iron Formation
(3) Ultramafics and mafics
(4) All of these

Among these granitic bodies,
which one is not related to
Singhbhum Craton ?

(1) Akasant Granite

(2) Gadag Granite

(3) Mayurbhanj Granite
(4) Kuilapal Granite

Ultramafic rocks mainly
peridotite, dunite, anorthosite
and gabbro are closely associated
with

(1) Aravalli Craton

(2) Dharwar Craton

(3) Bundelkhand Craton

(4) Bastar Craton

. Which of the following rocks are

not found in Jharol Group ?
(1) Quartzite

(2) Phyllite

(3) Carbonate rocks

(4) Conglomerate
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The rocks of Birmania basin are
correlatable with

(1) Jodhpur Group

(2) Nagaur Group

(3) Hanseran Group

(4) None of these

Which of the following formations
represent the uppermost part of
the Semri Group in Rajasthan ?
(1) Bhagwanpura Limestone

(2) Binota Shale

(3) Suket Shale

(4) Nimbahera Limestone

The Cuddapah Supergroup
equivalent to

(1) Marwar Supergroup
(2) Delhi Supergroup

(3) Aravalli Supergroup
(4) Dharwar Supergroup

1S

Which formation is not related to
coal deposit ?

(1) Karaharbari

(2) Barakar

(3) Raniganj

(4) Barren Measures

Halobia Beds are part of

(1) Triassic of Spiti

(2) Jurassic of Spiti

(3) Jurassic of Kachchh

(4) Cretaceous of Tiruchirapalli

What is age of Dhosa Qolite ?
(1) Bathonian

(2) Tithonian

(3) Bajocian

(4) Oxfordian
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The sponge coral-algal reefal
limestone is a part of

(1) Uttatur Group
(2) Ariyalur Group
(3) Trichinopoly Group
(4) Niniyur Group

Soil formed by weathering of
Deccan basalt is good for sowing
of

(1) Bajra

(2) Gwar

(3) Cotton

(4) Groundnut

Dagshai Formation is

(1) Younger than
Formation

(2) Older than Subathu Formation

(3) Older than Kakara Formation

Subathu

(4) Younger than Kasauli
Formation
Quaternary sediments of

mainland Gujarat consist of
(1) Fluvial sediments

(2) Aeolian sediments

(3) Marine sediments

(4) All of these

Kushalgarh Formation of Delhi
Supergroup is interpreted as
deposited in

(1) Lagoonal environment

(2) Lake environment

(3) Marine environment

(4) Aeolian environment
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